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CO1 K1 1. | Which of the following is the full form of RDBMS?
a) Relational Data Management System
b) Relational Database Management System
c) Relative Data Management System
d) Regional Database Management System
CO1 K2 2. | Which of the following cannot be used to modify the data in the database?
a) delete b) update c) drop d) insert
CO2 K1 3. | Which of the following is the set of entities of the same type that share the
same properties or attributes?
a) entity set b) attribute set c) relation set d) entity model
CO2 K2 4. | Which of the following is the single valued attribute?
a) register_number b) address c) subject_taken d) reference
CO3 K1 5. | Afiled in a table can be taken as a foreign key if
a) it is present in all other tables b) it has unique values
c) it is a primary key in other table d) both(a) and (c)
CO3 K2 6. Row is synonyms with the term.
a) record b) relation c) column d) field
CO4 K1 7. | Which command is used to create a table?
a) make b) insert c) alter d) create
CO4 K2 8. | Which command is used to delete a trigger in SQL?
a) drop b) delete c) alter d) modify
CO5 K1 9. | A table is in 2NF if it has.
a) no atomic values b) no partial dependency
¢) no transitive dependency d) non-trivial functional dependency
CO5 K2 10. | Which of the following is a trivial functional dependency?
a) A->B b) B->A
c) A->B, if B is subset of A d) B->A, if B is subset of A
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Co1 K3 11a. | llustrate the advantages of DBMS.
(OR)
CO1 K3 11b. | Illustrate the levels of abstraction in a DBMS.




CO2 K3 12a. | How database design process is divided into six steps?
(OR)
CO2 K3 12b. | Analyse the relationships and relationships sets.
CO3 K4 13a. | How will you create and modify relations using SQL-92?
(OR)
CO3 K4 13b. | Identify the purpose of key constraints and foreign key constraints.
CO4 K4 14a. | Compare selection with projection in relational algebra.
(OR)
CO4 K4 14b. | Categorize various SQL set operations with example.
CO5 KS 15a. | Discuss closure of a set of functional dependencies.
(OR)
CO5 K5 15b. | Discuss first normal form with example.
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Co1 K3 16a. | Examine the structure of a DBMS with its diagram. — architecture diagram,
explanation
(OR)
CO1 K3 16b. | What do you mean by transaction? Examine in detail about transaction
management.
CO2 K4 17a. | Classify any three features of the ER model.
(OR)
CO2 K4 17b. | Examine the conceptual database design with the ER model.
CO3 K4 18a. | How to translate an ER diagram into a collection of tables with associated
constraints.
(OR)
CO3 K4 18b. | Analyse the following with example.
ijcreate view  (iijjupdate on view (iii)destroy a view
CO4 KS 19a. | Discuss nested queries with example.
(OR)
CO4 K5 19b. | Discuss triggers and its types with example.
CO5 KS 20a. | How will you perform lossless-join decomposition and dependency-preserving
decomposition?
(OR)
CO5 K5 | 20b. | Discuss third normal form with example.




